

## Egyptian Mathematical Society

## Journal of the Egyptian Mathematical Society





## ORIGINAL ARTICLE

# On Humbert matrix functions

A. Shehata a, M. Abul-Dahab b,\*

<sup>a</sup> Department of Mathematics, Faculty of Science, Assiut University, Assiut 71516,

Received 14 March 2012; accepted 1 July 2012 Available online 3 November 2012

### **KEYWORDS**

Humbert matrix function; Integral representations; Recurrence relations

Abstract In this paper matrix function in the following form: onsider a

$$J_{A,B}(z) = \left(\frac{z}{3}\right)^{A+B} \Gamma^{-1}(A + \Gamma^{-1}B + I_{10}F_{2}\left(-, -; A+I, B+I; -\frac{z^{3}}{27}\right), \quad |z| < \infty,$$

wher

$${}_{0}F_{2}(x,-;A) = \Gamma(A+I)\Gamma(B+I)\sum_{k=0}^{\infty} \frac{(-1)^{k}\Gamma^{-1}(A+(k+1)I)\Gamma^{-1}(B+(k+1)I)}{k!} \left(\frac{z}{3}\right)^{3k},$$

for this function we present order and type, integral representations and differential relations. Also, the Humbert matrix differential equation is studied.

> © 2012 Egyptian Mathematical Society. Production and hosting by Elsevier B.V. Open access under CC BY-NC-ND license.

### 1. Introduction

Humbert functions of scalar coefficients and variables is appeared in [1,2]. Sp. al matrix functions appear in the literature related to statistics 4]. Recently, Laguerre, Hermite and Gegenbauer matrix polynomials have appeared in connection with the study of matrix differential equations [5-7]. The primary goal of this paper is to consider a new system of matrix functions, namely the Humbert matrix function. The paper is

E-mail address: mamabuldahab@yahoo.com (M. Abul-Dahab). Peer review under responsibility of Egyptian Mathematical Society.



Production and hosting by Elsevier

organized as follows. Section 2 is define and study of a new matrix functions, say, the Humbert matrix function, the radius of regularity and order and type on this function are established. In Section 3 Integral expressions of Humbert matrix functions are given. In Section 4 deducing some recurrence relations of Section 5, we prove that the Humbert matrix function satisfy a matrix differential equation.

A matrix P in  $\mathbb{C}^{N\times N}$  is a positive stable matrix if  $\operatorname{Re}(\lambda) > 0$ for all  $\lambda \in \sigma(P)$  where  $\sigma(P)$  is the set of all eigenvalues of P and its two-norm denoted by

$$||P|| = \sup_{x \neq 0} \frac{||Px||_2}{||x||_2},$$

where for a vector y in  $\mathbb{C}^N$ ,  $||y||_2 = (y^T y)^{\frac{1}{2}}$  is the Euclidean

Let  $\alpha(P)$  and  $\gamma(P)$  be the real numbers which were defined in [5] by

ypt 23, Egypt b Department of Mathematics, Faculty of Science, South Valley University, Qeng

<sup>\*</sup> Corresponding author.

$$\alpha(P) = \max\{\operatorname{Re}(z) : z \in \sigma(P)\}, \quad \gamma(P) = \min\{\operatorname{Re}(z) : z \in \sigma(P)\}.$$

$$(1.1)$$

If f(z) and g(z) are holomorphic functions of the complex variable z which are defined in an open set  $\Omega$  of the complex plane and P is a matrix in  $\mathbb{C}^{N\times N}$  such that  $\sigma(P) \subset \Omega$ , then from the properties of the matrix functional calculus (see [5]), it follows that

$$f(P)g(P) = g(P)f(P). (1.2)$$

Hence, if Q in  $\mathbb{C}^{N\times N}$  is a matrix for which  $\sigma(Q)\subset\Omega$  and if PQ=QP, then

$$f(P)g(Q) = g(Q)f(P). (1.3)$$

The reciprocal Gamma function denoted by  $\Gamma^{-1}(z) = \frac{1}{\Gamma(z)}$  is an entire function of the complex variable z. Then the image of  $\Gamma^{-1}(z)$  acting on P denoted by  $\Gamma^{-1}(P)$  is a well-defined matrix. Furthermore, if

$$P + nI$$
 is invertible for all integer  $n \ge 0$ , (1.4)

Then from [5], the Pochhammer symbol or shifted factorial defined by

$$(P)_n = P(P+I) \cdots (P+(n-1)I)$$
  
=  $\Gamma(P+nI)\Gamma^{-1}(P); \quad n \ge 1; \quad (P)_0 = I.$  (1.5)

Jódar and Cortés have proved in [8] that

$$\Gamma(P) = \lim_{n \to \infty} (n-1)! [(P)_n]^{-1} n^P. \tag{1.6}$$

Let P and Q be two positive stable matrices in  $\mathbb{C}^{\mathbb{N} \times \mathbb{N}}$  she gamma matrix function  $\Gamma(P)$  and the beta matrix function B(P,Q) have been defined in [9], as follows

$$\Gamma(P) = \int_0^\infty e^{-t} t^{P-I} dt; \quad t^{P-I} = \exp((P-I) \ln t),$$
 (1.7)

and

$$B(P,Q) = \int_0^1 t^{P-I} (1-t)^{Q-I} dt.$$
 (1.8)

Let P and Q be commuting matrices  $n \in \mathbb{N}^{N \times N}$  such that the matrices P + nI, Q + nV and P + Q + nV re invertible for every integer  $n \ge 0$ . Then according to [9], we have

$$B(P,Q) = \Gamma(P)\Gamma(Q)[I + I]^{-1}. \tag{1.9}$$

## 2. Humber matrix faction

In this section we deal with the Humbert matrix function  $J_{A,B}(z)$  that is defined by

$$J_{A,B}(z) = \left(\frac{z}{3}\right)^{A+B} \Gamma^{-1}(A+I)\Gamma^{-1}(B+I)_{0}F_{2}\left(-,-;A+I,B+I;-\frac{z^{3}}{27}\right)$$

$$= \sum_{k=0}^{\infty} \frac{(-1)^{k} \Gamma^{-1}(A+(k+1)I)\Gamma^{-1}(B+(k+1)I)}{k!} \left(\frac{z}{3}\right)^{A+B+3kI}$$

$$= \sum_{k=0}^{\infty} U_{A+B+3kI} z^{A+B+3kI}, \qquad (2.1)$$

where A + I and B + I are matrices in  $\mathbb{C}^{N \times N}$  such that A + (k + 1)I and B + (k + 1)I are invertible for every integer  $k \ge -1$ . The first few terms of the series are given by the formula

$$\begin{split} J_{A,B}(z) = & \frac{z^{A+B} \Gamma^{-1}(A+I) \Gamma^{-1}(B+I)}{3^{A+B}} \Bigg[ 1 - \frac{z^{3I} [(A+I)]^{-1} [(B+I)]^{-1}}{3^3 1!} \\ & + \frac{z^{6I} [(A+I)]^{-1} [(A+2I)]^{-1} [(B+I)]^{-1} [(B+2I)]^{-1}}{3^6 2!} - \cdots \Bigg] \end{split}$$

For A and B are equal the zero matrix 0 it follows

$$J_{0,0}(z) = \left[1 - \frac{z^{3I}}{3^3} + \frac{z^{6I}}{3^6 \cdot 2^3} - \frac{z^{9I}}{3^9 \cdot 2^3 \cdot 3^3} + \cdots\right].$$

Now we prove that the matrix power series (2.1) converges uniformly in any bounded domain of the complex variable z, by the following inequality

$$\begin{split} \|J_{A,B}(z)\| &\leq \sum_{k=0}^{\infty} \|\frac{\varGamma^{-1}(A + (k+1)I)\varGamma^{-1}(D - k + 1)I)}{2} \left(\frac{z}{3}\right)^{A+1-kI} \| \\ &\leq \|\left(\frac{z}{3}\right)^{A+B} \|\sum_{k=0}^{\infty} \frac{J - (A + (k+1)I)\varGamma^{-1}(D - k + 1)I)\left(\frac{z}{3}\right)^{3k}}{k!} \| \\ &\leq \|\left(\frac{z}{3}\right)^{A} - \varGamma^{-1}(A + I) - \frac{J}{2}(B + I)\|\sum_{k=0}^{\infty} \|\frac{(A + I)_k]^{-1}[(B + I)_k]^{-1}\left(\frac{z}{3}\right)^{3k}}{k!} \| \end{split}$$

So,

$$|| \leq || \binom{z}{7}^{A+B} \Gamma^{-1} (A+I) \Gamma^{-1} (B+I) ||$$

$$= \exp \left( \left\| (A+I)^{-1} (B+I)^{-1} \frac{z^{3}}{27} \right\| \right)$$

$$\leq \left\| \left( \frac{z}{3} \right)^{A+B} \Gamma^{-1} (A+I) \Gamma^{-1} (B+I) \right\| \exp \left( \frac{1}{27} |z|^{3} \right).$$
(2.2)

By considering all the terms of the series for  $J_{A,B}(z)$  except the first, it is found that

$$J_{A,B}(z) = \left(\frac{z}{3}\right)^{A+B} \Gamma^{-1}(A+I)\Gamma^{-1}(B+I)(1+\Theta), \tag{2.3}$$

where

$$\|\Theta\| \le \exp\left(\left\| (A+I)^{-1} (B+I)^{-1} \frac{z^3}{27} \right\| \right) - 1$$
  
 $\le \|(A+I)^{-1} (B+I)^{-1} \| \left( \exp\left(\frac{1}{27} |z|^3 \right) - 1 \right).$ 

Thus, the series on the right in (2.1) converges uniformly in any bounded domain of the complex variables z. We define the radius of regularity of the function  $J_{A,B}(z)$  given in the form

$$\begin{split} &\frac{1}{R} = \limsup_{k \to \infty} (\|U_{A+B+3kI}\|)^{\frac{1}{A+B+3kI}} = \limsup_{k \to \infty} \left( \left\| \frac{1}{3^{A+B+3kI}k!(A+kI)!(B+kI)!} \right\| \right)^{\frac{1}{A+B+3kI}} \\ &= \limsup_{k \to \infty} \left( \left\| \frac{1}{3^{A+B+3kI}\sqrt{2\pi k} \left( \frac{k}{e} \right)^k \sqrt{2\pi (A+kI)} \left( \frac{A+kI}{e} \right)^{A+kI} \sqrt{2\pi (B+kI)} \left( \frac{B+kI}{e} \right)^{B+kI}} \right\| \right)^{\frac{1}{A+B+3kI}} \\ &\leqslant \limsup_{k \to \infty} \left( \frac{1}{k^{k+\frac{1}{2}} (A+kI)^{A+(k+\frac{1}{2})I} (B+kI)^{B+(k+\frac{1}{2})I}} \right)^{\frac{1}{A+B+3kI}} = 0. \end{split}$$

Therefore, the order and type of the Humbert matrix function is formulated as follows

On Humbert matrix functions 169

$$\begin{split} \rho &= \limsup_{k \to \infty} \frac{(A+B+3kI) \ln(A+B+3kI)}{\ln\left(\frac{1}{\|U_{A+B+3kI}\|}\right)} \\ &= \limsup_{k \to \infty} \frac{(A+B+3kI) \ln(A+B+3kI)}{\ln(3^{A+B+3kI}k!(A+kI)!(B+kI)!)} \\ &= \limsup_{k \to \infty} \frac{(A+B+3kI) \ln(A+B+3kI)}{\ln\left(\sqrt{2\pi k} \left(\frac{k}{e}\right)^k \sqrt{2\pi (A+kI)} \left(\frac{A+kI}{e}\right)^{A+kI} \sqrt{2\pi (B+kI)} \left(\frac{B+kI}{e}\right)^{B+kI} 3^{A+B+3kI}\right)} \\ &\leq \limsup_{k \to \infty} \frac{1}{\frac{k \ln k}{(A+B+3kI) \ln(A+B+3kI)} + \frac{(B+kI) \ln(B+kI)}{(A+B+3kI) \ln(A+B+3kI)} + \frac{(B+kI) \ln(B+kI)}{(A+B+3kI) \ln(A+B+3kI)}} = 1, \quad (2.4) \end{split}$$

and

$$\begin{split} \tau &= \frac{1}{e\rho} \limsup_{k \to \infty} (A + B + 3kI) (\|U_{A+B+3kI}\|)^{\frac{\rho}{A+B+3kI}} \\ &= \frac{1}{e} \limsup_{k \to \infty} (A + B + 3kI) \left( \frac{1}{3^{A+B+3kI}k! (A + kI)! (B + kI)!} \right)^{\frac{1}{A+B+3kI}} \\ &= \frac{1}{3e} \limsup_{k \to \infty} (A + B + 3kI) \\ &\times \left( \frac{1}{\sqrt{2\pi k} (\frac{k}{e})^k \sqrt{2\pi (A + kI)} (\frac{A+kI}{e})^{A+kI} \sqrt{2\pi (B + kI)} (\frac{B+kI}{e})^{B+kI}} \right)^{\frac{1}{A+B+3kI}} \\ &\leqslant \frac{1}{3} \limsup_{k \to \infty} (A + B + 3kI) \left( \frac{1}{k^k (A + kI)^{(A+kI)} (B + kI)^{(B+kI)}} \right)^{\frac{1}{A+B+3kI}} = 1. \end{split}$$

Summarizing, the following result has been established.

**Theorem 2.1.** Let A and B be matrices in  $\mathbb{C}^{N \times N}$  such that A + (k+1)I and B + (k+1)I are invertible for every integer  $k \ge -1$ . Then the Humbert matrix function is an enfunction and the order and type of the Humbert matrix function is equal one.

### 3. An integral representation

In this section, we provide integral expressions. Humbert matrix function  $J_{A,B}(z)$  by the following theorems:

**Theorem 3.1.** Let A and B matrices  $\gamma(A) > \gamma(B) > -1$ . Then complex number it follows that

$$J_{A,A}(z) = 3\left(\frac{z}{3}\right)^{A-B} \Gamma^{-1}(A - I - I)^{A-B-A} - (A-2(B+I))J_{A,B}(zt) dt,$$
(3.1)

and

$$J_{B,B}(z) = 3\left(\frac{z}{3}\right)^{B-A}I \qquad B-A\int_0^1 (1-t^3)^{B-A-I} t^{-(B-2(A+I))} J_{A,B}(zt) dt.$$
(3.2)

where  $\gamma(B) > \gamma(A) > -1$ .

**Proof.** Let  $\mathbf{I} = \int_0^1 (1-t^3)^{A-B-I} t^{-(A-2(B+I))} J_{A,B}(zt) dt$ , then from the expression of Humbert matrix function, we have

$$J_{A,B}(zt) = \sum_{k=0}^{\infty} \frac{(-1)^k \Gamma^{-1} (A + (k+1)I) \Gamma^{-1} (B + (k+1)I)}{k!} \left(\frac{zt}{3}\right)^{A+B+3kI},$$

the integral becomes

$$\begin{split} \mathbf{I} &= \int_0^1 (1-t^3)^{A-B-I} t^{-(A-2(B-I))} \\ &\times \sum_{k=0}^\infty \frac{(-1)^k \Gamma^{-1} (A+(k+1)I) \Gamma^{-1} (B+(k+1)I)}{k!} \left(\frac{zt}{3}\right)^{A+B+3kI} \mathrm{d}t \\ &= \sum_{k=0}^\infty \frac{(-1)^k \Gamma^{-1} (A+(k+1)I) \Gamma^{-1} (B+(k+1)I)}{k!} \left(\frac{z}{3}\right)^{A+B+3kI} \\ &\times \int_0^1 (1-t^3)^{A-B-I} t^{3B+2I+3kI} \, \mathrm{d}t. \end{split}$$

Letting  $t^3 = s$ , then

$$\mathbf{I} = \sum_{k=0}^{\infty} \frac{(-1)^k \Gamma^{-1} (A + (k+1)I) \Gamma^{-1} (B + (k+1)I)}{k!} \left(\frac{z}{3}\right)^{A+B+3kI} \times \int_0^1 (1-s)^{A-B-I} s^{B+kI} \, \mathrm{d}s$$
(3.3)

From the propertie of Beta and Gamma matrix function in [9], we get

$$\int_{0}^{1} (1-s)^{A} ds = \Gamma(A-3)\Gamma(B+(k+1)I)\Gamma(A+(k+1)I),$$
(3.4)

th

$$\mathbf{I} = \underbrace{\frac{(A-B)\left(\frac{z}{3}\right)^{B-A}}{3}}_{k=0} \underbrace{\frac{(-1)^{k}\Gamma^{-1}(A+(k+1)I)\Gamma^{-1}(A+(k+1)I)}{k!}\left(\frac{z}{3}\right)^{2A+3kI}}_{J_{A,A}(z).}$$

Thus.

$$J_{A,A}(z) = 3\left(\frac{z}{3}\right)^{A-B} \Gamma^{-1}(A-B) \int_0^1 (1 - t^3)^{A-B-I} t^{-(A-2(B-I))} J_{A,B}(zt) dt.$$

Another integral representation of  $J_{A,B}(z)$  can be established starting from the formula in [10, p. 115, No. (5.10.5)] and Lemma 2 of [9, p. 209] we find that

$$\Gamma^{-1}(A + (k+1)I) = \frac{1}{2\pi i} \int_{C} \exp(s) s^{-(A+(k+1)I)} \, \mathrm{d}s, \tag{3.5}$$

and

$$\Gamma^{-1}(B + (k+1)I) = \frac{1}{2\pi i} \int_{C'} \exp(t) t^{-(B+(k+1)I)} dt,$$
 (3.6)

and substituting the above expression into the series expression of the Humbert matrix function given in (2.1), it follows that

$$J_{A,B}(z) = \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{z}{3}\right)^{A+B+3kI}}{k!} \frac{1}{(2\pi i)^2} \int_C \int_C \exp(s+t) s^{-(A+(k+1)I)} t^{-(B+(k+1)I)} \, ds \, dt.$$

Interchanging the order of the integral and summation,

$$J_{A,B}(z) = \frac{\left(\frac{z}{3}\right)^{A+B}}{\left(2\pi i\right)^2} \int_{C'} \int_{C} \exp(s+t) s^{-(A+I)} t^{-(B+I)} \sum_{k=0}^{\infty} \frac{\left(\frac{-z^3}{27st}\right)^k}{k!} ds dt,$$

that is.

$$J_{A,B}(z) = \frac{\left(\frac{z}{3}\right)^{A+B}}{(2\pi i)^2} \int_{C'} \int_{C} \exp(s+t) s^{-(A+I)} t^{-(B+I)} \exp\left(\frac{-z^3}{27st}\right) ds dt,$$
  
$$= \frac{\left(\frac{z}{3}\right)^{A+B}}{(2\pi i)^2} \int_{C'} \int_{C} \exp\left(s+t-\frac{z^3}{27st}\right) s^{-(A+I)} t^{-(B+I)} ds dt.$$

Therefore, the following result has been established.  $\Box$ 

**Theorem 3.2.** Let A and B be two matrices in  $\mathbb{C}^{N\times N}$ . Then the Humbert matrix function for complex variable z satisfies the following integral

$$J_{A,B}(z) = \frac{\left(\frac{z}{3}\right)^{A+B}}{\left(2\pi i\right)^2} \int_{C'} \int_{C} \exp\left(s + t - \frac{z^3}{27st}\right) s^{-(A+I)} t^{-(B+I)} \, ds \, dt.$$
(3.7)

#### 4. Recurrence relations

Some recurrence relations are carried out on the Humbert matrix function. We obtain the following:

**Theorem 4.1.** The Humbert matrix function  $J_{A,B}(z)$  satisfies the following relations:

(i) 
$$\left(\frac{d}{z-dz}\right)^n \left\{ z^{-(A+B)} J_{A,B}(z) \right\} = (-1)^n z^{-(A+B)-nI} J_{A+nI,B+nI}(z),$$

(ii) 
$$J'_{AB}(z) = J_{AB-I}(z) - \frac{(2B-A)}{z} J_{AB}(z)$$
,

(ii) 
$$J'_{A,B}(z) = J_{A,B-I}(z) - \frac{(2B-A)}{z} J_{A,B}(z),$$
  
(iii)  $J'_{A,B}(z) = J_{A-I,B}(z) - \frac{(2A-B)}{z} J_{A,B}(z),$ 

(iv) 
$$\frac{(3A)}{z} J_{A,B}(z) = J_{A+I,B+I}(z) + J_{A-I,B}(z),$$

(v) 
$$\frac{(3B)}{z} J_{A,B}(z) = J_{A+I,B+I}(z) + J_{A,B-I}(z)$$
.

#### Proof.

(i) Applying mathematical for 1:

$$\begin{split} &\left(\frac{d}{dz}\right)^{n} \left\{z^{-(A+B)} J_{A,B}(z)\right\} \\ &= \frac{d}{dz} \sum_{k=0}^{\infty} \frac{(-1)^{k} \left(\frac{1}{3}\right)^{A+B+3kI} \Gamma^{k}}{2} + \frac{(k+I)I)\Gamma^{-1} (B+(k+1)I)}{2} (z)^{3kI} \\ &= \sum_{k=1}^{\infty} \frac{(-1)^{k} \left(\frac{1}{3}\right)^{A+3kI-I} I}{2} + \frac{(A+(k+1)I) (B+(k+1)I)}{2} (z)^{3kI-I} \\ &= \sum_{k=0}^{\infty} \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI+2} \\ &= \sum_{k=0}^{\infty} \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI+2} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI+2} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{A+2I} \Gamma^{-1} ((A+I)+(k+1)I)\Gamma^{-1} ((B+I)+(k+1)I)}{k!} (z)^{3kI} \\ &= \frac{(-1)^{k+1} (2^{-k+1)I} J^{-1} J$$

i.e..

$$\left(\frac{d}{z dz}\right) \{z^{-(A+B)} J_{A,B}(z)\} = -z^{-(A+B)-I} J_{A+I,B+I}(z), \tag{4.1}$$

For n = r - 1, we have

$$\left(\frac{d}{z\,dz}\right)^{r-1}\left\{z^{-(A+B)}J_{A,B}(z)\right\} = (-1)^{r-1}z^{-(A+B)-(r-1)I}J_{A+(r-1)I,B+(r-1)I}(z).$$

Then for n = r:

$$\left(\frac{d}{z}\frac{d}{dz}\right)^{r}\left\{z^{-(A+B)}J_{A,B}(z)\right\} 
= \left(\frac{d}{z}\frac{d}{dz}\right)\left(\frac{d}{z}\frac{d}{dz}\right)^{r-1}\left\{z^{-(A+B)}J_{A,B}(z)\right\} 
= \left(\frac{d}{z}\frac{d}{dz}\right)\left\{(-1)^{r-1}z^{-(A+B)-(r-1)I}J_{A+(r-1)I,B+(r-1)I}(z)\right\} 
= (-1)^{r}z^{-(A+B)-rI}J_{A+rI,B+rI}(z).$$
(4.2)

Thus, the proof of relation (i) is completed.

(ii) In this case

$$\frac{d}{dz}(z^{2A-B}J_{A,B}(z))$$

$$= \frac{d}{dz} \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{1}{3}\right)^{A+B+3kI} \Gamma^{-1} (A + (k-1)I) \Gamma^{-1} (D + (k+1)I)}{(2)^{3A+3kI}} (z)^{3A+3kI}$$

$$= \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{1}{3}\right)^{A+B+3kI-I} \Gamma^{-1} (A + kI) \Gamma}{k!} \frac{B + (k+1)I}{k!} (z)^{3A+3kI-I}$$

$$= z^{2A-B}J_{A-I,B}(z).$$

the differ tiation the product on the left-By carrying or hand side.

$$(2A - B)z^{2A - B - I}J_{A,A}(z) + z^{2A - B}J'_{A,B}(z) = z^{2A - B}J_{A - I,B}(z).$$

$$_{R}(z) = J_{A-I}(z) - \frac{(2A-B)}{z} J_{A,B}(z).$$
 (4.3)

$$J_{A,B}(z)$$

$$= \frac{d}{dz} \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{1}{3}\right)^{A+B+3kI} \Gamma^{-1} (A + (k+1)I) \Gamma^{-1} (B + (k+1)I)}{k!} (z)^{3B+3kI}$$

$$= \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{1}{3}\right)^{A+B+3kI-I} \Gamma^{-1} (B+kI) \Gamma^{-1} (A + (k+1)I)}{k!} (z)^{3B+3kI-I}$$

$$= z^{2B-A} J_{A,B-I}(z). \tag{4.4}$$

By carrying out the differentiation of the product on the lefthand side, we have

$$(2B-A)z^{2B-A-I}J_{A,B}(z) + z^{2B-A}J'_{A,B}(z) = z^{2B-A}J_{A,B-I}(z).$$

$$J'_{A,B}(z) = J_{A,B-I}(z) - \frac{(2B-A)}{z} J_{A,B}(z). \tag{4.5}$$

(iv) From result (i), we have

$$J'_{A,B}(z) = \frac{(A+B)}{z} J_{A,B}(z) - J_{A+I,B+I}(z). \tag{4.6}$$

Subtracting (4.5) from result (ii) we obtain the required relationship.

(v) Subtracting (4.5) from result (iii) we obtain the required relationship.

Finally, we can find some properties related with differentiation of the Humbert matrix function with respect to indexes A and B in the forms

On Humbert matrix functions 171

$$\begin{split} \frac{\partial}{\partial A} J_{A,B} &= \frac{\partial}{\partial A} \sum_{k=0}^{\infty} \frac{(-1)^k \Gamma^{-1} (A + (k+1)I) \Gamma^{-1} (B + (k+1)I)}{k!} \left(\frac{z}{3}\right)^{A + B + 3kI} \\ &= J_{A,B} \left[ \ln \left(\frac{z}{3}\right) - \Gamma' (A + (k+1)I) \Gamma^{-1} (A + (k+1)I) \right] \\ &= \ln \left(\frac{z}{3}\right) J_{A,B} - J_{A,B} \psi (A + (k+1)I), \end{split}$$
(4.7)

and

$$\frac{\partial}{\partial B} J_{A,B} = \frac{\partial}{\partial B} \sum_{k=0}^{\infty} \frac{(-1)^{k} \Gamma^{-1} (A + (k+1)I) \Gamma^{-1} (B + (k+1)I)}{k!} \left(\frac{z}{3}\right)^{A+B+3kI} 
= J_{A,B} \left[ \ln \left(\frac{z}{3}\right) - \Gamma' (B + (k+1)I) \Gamma^{-1} (B + (k+1)I) \right] 
= \ln \left(\frac{z}{3}\right) J_{A,B} - J_{A,B} \psi (B + (k+1)I). \quad \Box$$
(4.8)

#### 5. Humbert matrix differential equation

We know a matrix differential equation satisfied by any  $_0F_2$  by specializing the result in [11]. The matrix differential equation:

$$[\theta(\theta I + A)(\theta I + B) - y]U = 0; \quad \theta = y\frac{d}{dy}, \tag{5.1}$$

has  $U = {}_{0}F_{2}(-, A + I, B + I, y)$  as one solution. Eq. (5.1) can also be written

$$y^{2} \frac{d^{3}U}{dy^{3}} + (A + B + 3I)y \frac{d^{2}U}{dy^{2}} + (A + I)(B + I) \frac{dU}{dy} - U$$

$$= 0,$$
(3)

we now put  $y = -\frac{z^3}{27}$ , therefore

$$\begin{split} \frac{dU}{dy} &= -\frac{9}{z^2} \cdot \frac{dU}{dz}, \\ \frac{d^2U}{dv^2} &= \frac{81}{z^4} \cdot \frac{d^2U}{dz^2} - \frac{162}{z^5} \cdot \frac{dU}{dz}, \end{split}$$

and

$$\frac{d^3 U}{dv^3} = -\frac{729}{z^6} \cdot \frac{d^3 U}{dz^3} + \frac{428}{z^7} \cdot \frac{d^2 U}{z^8} \cdot \frac{7290}{z^8} \cdot \frac{dU}{dz}$$

in (5.2) to obtain

$$z^{2} \frac{d^{3}U}{dz^{3}} + (3A + 2I + 1)z \frac{d}{dz^{2}} - [6A + 2I + 2I + 1)(B + I)] \frac{dU}{dz} + z^{2}U = 0, \quad (5.3)$$

in which primes denote differentiations with respect to z. one solution (5.3) is

$$U = {}_{0}F_{2}\left(-, A + I, B + I, -\frac{z^{3}}{27}\right).$$

We seek an equation satisfied by  $U = z^{A+B}W$ . Hence in (5.3) we now put  $W = z^{-(A+B)}U$  and arrive at the matrix differential equation.

$$z^{3} \frac{d^{3} W}{dz^{3}} + 3z^{2} \frac{d^{2} W}{dz^{2}}$$

$$- \left[ 3(A+B)(A+B+I) + (6A+6B-2I) + z^{2}(A+I)(B+I) \right] z \frac{d W}{dz}$$

$$+ \left[ (A+B)(A+B+I)(2A+2B+I) + (A+B)(6A+6B-2I) + z^{2}(A+B)(A+I)(B+I) + z^{3} \right] W = 0$$
(5.4)

of which one solution is  $W = z^{A+}$ Eq. (5.4) is Humbert mate differentia

#### References

- me interests it olving Humbert function, Indian Acade by of Sciences 18 (1943) 11–18. Subert functions, The Annals of Mathematics Some inte [1] B.R. Pasri e Indian Aca
- [2] R.S. Varma, On I 42 (1041) 429-436.
- Dunford, J. Schwar, Linear Operators, Part I, Interscience, New York, 1957.
- R.A. Askey (Ed.), Special Functions of Matrix A.T. James, ment in Statistics in Theory and Application of nd Single A Sur Jons, Academic Press, New York, 1975.

  Sastre, On the Laguerre matrix polynomials, Utilitas rial Fur
- Lathematica 53 (1998) 37–48.
- Metwally, M.T. Mohamed, A. Shehata, On Hermite-Hermite matrix polynomials, Mathematica Bohemica 133 (2008)
- A. Shehata, A new extension of Gegenbauer matrix polynomials and their properties, Bulletin of the International Mathematical Virtual Institute 2 (2012) 29-42.
- [8] L. Jódar, J.C. Cortés, On the hypergeometric matrix function, Journal of the Computational and Applied Mathematics 99 (1998) 205-217.
- [9] L. Jódar, J.C. Cortés, Some properties of Gamma and Beta matrix functions, Applied Mathematics Letters 11 (1998) 89-93.
- [10] N.N. Lebedev, Special Functions and Their Applications, Dover Publications Inc., New York, 1972.
- L. Jódar, J.C. Cortés, Closed form general solution of the hypergeometric matrix differential equation, Mathematical Computational Modelling 32 (2000) 1017-1028.